	BID RES		
	AB2019-24 LAWRENCE HOPEWELL TRAIL-STONY BR		SION
BIDS RECEIVED	BID OPENING DAT	E:APRIL 23,2019	T
		AUDI ANTIG GONGTHOTION I I C	
NAME OF BIDDER	MARBRO, INC.	MIDLANTIC CONSTUCTION LLC	COMPASS CONSTRUCTION INC.
ADDRESS	127 PINE STREET, P.O. BOX 134	371 n main st.	PO BOX 191; 31 N. MAIN ST.
CITY, STATE, ZIP	MONTCLAIR, NJ 07042	BARNEGAT, NJ 08005	NEW EGYPT, NJ 08533
CONTACT	FRANK MARUCCI, JR.	MICHAEL MURRAY	GLENN GOEBEL
TELEPHONE	973 744 8383	732 223 9393	609 286 2235
FAX	973 746 5898	732 223 2460	609 286 2255
E-MAIL	MAR9400@COMCAST.NET	MMURRAY@MIDLANTICCONSTLLC.COM	COMPASSCONSTRUCTION@COMCAST.NET
BID BOND	FIDELITY DEPOSIT CO OF MARYLAND 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K	SELECTIVE INSURANCE CO.OF AMERICA 10% NTE 20K
CONSENT OF SURETY	MICHAEL J. MERWIN AIF WITH POA	DAWN M. JONES AIF WIT POA	DAWN M. JONES AIF WIT POA
ELECTICAL SUBCONTRACTOR	PANTALEO ELECTRIC, INC, PW REG.60106 EXPIRES 3.23.19, BRC OK, LICENSE #34EI00616000 EXPIRES 3.31.21	PANTALEO ELECTRIC, INC, PW REG.60106 EXPIRES 3.23.19, BRC OK, LICENSE #34EI00616000 EXPIRES 3.31.21	HAMMER ELECTRIC, PW REG.654607 EXPIRES 7.2.19,BRC OK, LICENSE # 34EI01533000 (COPY OF LICENSE REQUIRED)
STRUCTURAL STEEL SUBCONTRACTOR	IN -HOUSE	IN- HOUSE	IN-HOUSE
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED/NEED TO CHECK YES OR NO
PREVAILING WAGE CERTIFICATION	OK	OK	OK
EIC	REQUIRED IF AWARDED	39950 EXPIRES 11.15.2019	REQUIRED IF AWARDED
STOCKHOLDER DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EXHIBIT B	INCLUDED	INCLUDED	INCLUDED
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
PW CONTRACTOR REG.	607153 EXPIRES 6.13.20	67639 EXPIRES 12.15.20	636492 EXPIRES 3.24.20
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK
NON-COLLUSION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
HOLD PRICING BEYOND 60 DAYS	YES	YES	NO
TOTAL BID AMOUNT	\$ 3,117,117.00	\$3,641,325.65	\$2,570,062.00
REFERENCES	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW
exceptions	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE

	AB2019-24 LAWRENCE	HOPWE		Y-BI	ROOK PROP	OS/	AL PAGE						_		
ITEM	DESCRIPTION	UNIT	ESTIMATED QUANTITY												
II E/V	DESCRIPTION	OINII	QUANTITI		MAI	RBR	0	MIDLANTIC C	ONSTRUCTION LLC			COMPASS C	CONSTRUCTION		
				U	INIT PRICE		TOTAL PRICE	UNIT PRICE	T	TOTAL PRICE		JNIT PRICE	TOTAL PRICE		
1	FURNISH, INSTALL MAINTAIN AND REMOVE CONSTRUCTION STAGING AREA AND FENCING	LS	1	\$	100,000.00	\$	100,000.00	\$ 255,000.00	\$	255,000.00	\$	4,100.00		4,100.00	
2	FURNISH, INSTALL MAINTAIN AND REMOVE STABILIZED CONSTRUCTION ENTRANCE	SY	230	\$	25.00	\$	5,750.00	\$ 28.00	\$	6,440.00	\$	20.00	\$	4,600.00	
3	furnish, install maintain and remove silt fencing	LF	6,900	\$	5.00	\$	34,500.00	\$ 11.00	\$	75,900.00	\$	1.50	\$	10,350.00	
4	FURNISH, INSTALL MAINTAIN AND REMOVE STOCKPILING	CY	540	\$	35.00	\$	18,900.00	\$ 62.00	\$	33,480.00	\$	21.00	\$	11,340.00	
5	FURNISH, INSTALL MAINTAIN EROSION CONTROL MATTING	SY	430	\$	10.00	\$	4,300.00	\$ 21.00	\$	9,030.00	\$	3.00	\$	1,290.00	
6	FURNISH AND INSTALL RIP RAP	CY	75	\$	137.00	\$	10,275.00	\$ 125.00	\$	9,375.00	\$	92.00	\$	6,900.00	
7	FURNISH AND INTALL PED. SUSPENSION BRIDGE, COMPLETE BID SHALL INCLUDE BUT NOT BE LIMITED TO FOUNDATIONS, ANCHORING, CONCRETE, METALS, FASTENERS, WOOD, PLASTIC AND COMPOSITES	LS	1	\$ 2	2,202,292.00	\$	2,202,292.00	\$ 2,835,000.00	\$	2,835,000.00	\$2	2,225,000.00	\$	2,225,000.00	
8	FURNISH AND INSTALL FOOTBRIDGE, COMPLETE. BID SHALL INCLUDE BUT NOT BE LIMITED TO FOUNDATIONS, ANCHORING, CONCRETE, METALS, FASTENERS, WOOD, PLASTIC AND COMPOSITES	1S	1	\$	75,000.00	\$	75,000.00	\$ 40,000.00	\$	40,000.00	\$	48,000.00	\$	48,000.00	
	FURNISH AND INSTALL FIXED BOLLARDS, COMPLETE	EA	6	\$	1,500.00		9,000.00		_	4,680.00	\$	590.00	\$	3,540.00	
	FURNISH AND INSTALL COLLAPSIBLE BOARDS, COMPLETE	EA	3	\$	2,000.00		6,000.00			3,087.00	т.	1,250.00		3,750.00	
	CLEAR & GRUB AND DISPOSE OF OFFSITE INCLUDING BUSHES, GRASS, WOODED GROWTH, TREE	1		Ť	_,:::::00	_	2,222,00	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	_	2,22.100	7	.,	Ť	2,: 22.00	
11	PRUNING ETC.	LS	1	\$	225,000.00	\$	225,000.00	\$ 48,000.00	\$	48,000.00	\$	33,000.00	\$	33,000.00	
	FURNISH AND INSTALL NEW TRAIL, COMPLETE	LF	3450	\$	30.00	\$	103,500.00	\$ 16.00	\$	55,200.00	\$	21.00	\$	72,450.00	
13	FURNISH AND INSTALL ASPHALT PAVEMENT, COMPLETE	TONS	2	\$	750.00	\$	1,500.00	\$ 3,000.00	\$	6,000.00	\$	125.00	\$	250.00	
14	FURNISH AND INSTALL WOODEN BOARDWALK,COMPLETE	I.F.	192	\$	500.00	\$	96,000.00	\$ 898.00	\$	172,416.00	\$	265.00	\$	50,880,00	
15	Furnish and install pedestrain crossing sign (W11-2) complete	EA	2	\$	750.00	\$	1,500.00	\$ 360.00	\$	720.00	\$	290.00	\$	580.00	
16	FURNISH AND INSTALL YIELD TO PEDESTRAIN SIGN (R1-5A) COMPLETE	EA	2	\$	500.00	\$	1,000.00	\$ 360.00	\$	720.00	\$	290.00	\$	580.00	
17	FURNISH AND INSTALL BRIDGE RULES SIGNAGE, COMPLETE	EA	2	\$	500.00	\$	1,000.00	\$ 1,200.00	\$	2,400.00	\$	450.00	\$	900.00	
18	FURNISH AND INSTALL CROSSWALK STRIPPING, COMPLETE	LS	1	\$	2,200.00	\$	2,200.00	\$ 2,400.00	\$	2,400.00	\$	950.00	\$	950.00	
19	CLEAR AND DISPOSE OF OFFSITE ALL TRAIL RIGHT OF WAY IMPEDIMENTS INCLUDING BUT NOT	AC	1	\$	125,000.00	\$	125,000.00	\$ 0.01	\$	0.01	\$	12,000.00	\$	12,000.00	
20	CLEAR, STRIP, AND DISPOSE OF OFFSITE ALL TRAIL RIGHT OF WAY TOPSOIL	CY	540	\$	30.00	\$	16,200.00	\$ 0.01	\$	5.40	\$	11.00	\$	5,940.00	
21	FURNISH AND INSTALL SEEDING, COMPLETE	MSF	50	\$	100.00	\$	5,000.00	\$ 210.00	\$	10,500.00	\$	105.00	\$	5,250.00	
22	FURNISH AND INSTALL CANOPY TREE, COMPLETE	EA	8	\$	1,000.00	\$	8,000.00	\$ 1,410.00	\$	11,280.00	\$	670.00	\$	5,360.00	
23	furnish and install understory trees, complete	EA	8	\$	375.00	\$	3,000.00	\$ 78.00	\$	624.00	\$	500.00	\$	4,000.00	
24	furnish and install shrubs, complete	EA	72	\$	175.00	\$	12,600.00	\$ 54.00	\$	3,888.00	\$	65.00	\$	4,680.00	
25	FURNISH AND INSTALL IMPORTED CLEAN FILL, COMPLETE	CY	100	\$	50.00	\$	5,000.00	\$ 42.92	\$	4,292.00	\$	20.00	\$	2,000.00	
26	EXCAVATE SOILS, COMPLETE	CY	220	\$	90.00	\$	19,800.00	\$ 74.00	\$	16,280.00	\$	15.00	\$	3,300.00	
27	FURNISH AND INSTALL 16 INCH DUCTILE IRON PIPE, COMPLETE	LF	24	\$	200.00	\$	4,800.00	\$ 192.01	\$	4,608.24	\$	128.00	\$	3,072.00	
ALT 1	Furnish and install electrical services, fuses, conduit, outlet, gfc1 and related components. Complete	LS	1	\$	20,000.00	\$	20,000.00	\$ 30,000.00	\$	30,000.00	\$	46,000.00	\$	46,000.00	
	TOTAL			T		\$	3,117,117.00		\$	3,641,325.65	Ė		\$	2,570,062.00	

				BID RESULTS					
			AB2019-01 REPLACEN	BID OPENING DATE: AP	N ROAD OVER TRIBUTARY TO MILLSTON	IE KIVEK			
BIDS RECEIVED	•			BID OF ENING DATE. AF	RIL 20,2017				
NAME OF BIDDER	MARBRO, INC. C.J. HESSE, INC.		LOFTUS CONSTRUCTION INC.	MIDLANTIC CONSTUCTION LLC	STATE LINE CONSTRUCTION CO INC.	COLONNELLI BROTHERS, INC.	LUCAS BROTHERS INC	EARLE ASPHALT COMPANY	RICHARD R. PIERSON CONSTRUCTION CO INC.
ADDRESS	127 PINE STREET P.O. BOX 134	25 FIRST AVENUE	1903 TAYLOR'S LANE	371 N MAIN ST.	234 PACIFIC STREET	409 SOUTH RIVER STREET	60 AMBOY ROAD	P.O BOX 556	426 SWEDESBORO ROAD
CITY, STATE, ZIP	MONTCLAIR, NJ 07042	ATLANTIC HIGHLANDS, NJ 07716	CINNAMINSON,NJ 08077	BARNEGAT, NJ 08005	NEWARK, NJ 07114	HACKENSACK, NJ 07601	MORGANVILLE, NJ 07751	FARMINGDALE, NJ 07727	PILESGROVE, NJ 08098
CONTACT	FRANK MARUCCI JR.	LAWRENCE C. HESSE	KEVIN J.LOFTUS	MICHAEL MURRAY	PAULA CECERE	LISA COLONNELLI	LUIS LUCAS	BRIAN M. COOPER	CHERRI M. SICKLER
TELEPHONE	973 744 8383	732 291 8100	856 786 6607	732 223 9393	973 621 2828	201 440 1118	732 536 6663	732 308 1113	856 769 8244
FAX	973 746 5898	732 495 6225	856 786 6641	732 223 2460	973 621 9066	201 440 8282	732 536 5831	732 308 1034	856 769 5630
E-MAIL	MAR9400@COMCAST.NET	LHESSE@CJHESSE.COM	KLOFTUS@LOFTUSCONSTRUCTION.CO M	MMURRAY@MIDLANTICCONSTLLC.COM	PAULA@STATELINECO.COM	NGC@COLONNELLI.COM	DANIELLUCAS@LUCASBROS.COM	MCORSI@EARLECO.COM	INFO@REPIERSON.COM
ADDENDUM NO ONE.	SIGNED AND DATED	DID NOT INCLUDE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
BID BOND	FIDELITY & DEPOSIT CO OF MARYLAND, 10% NTE 20K	WESTPORT INSURANCE CORPORATION, 10% NTE 20K	WESTERN SURETY COMPANY, 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K	THE GUARANTEE COMPANY OF NORTH AMERICA USA 10% NTE 20K	UNITED STATES FIRE INSURANCE COMPANY, 10% NTE 20K	NORTH AMERICAN SPECIALITY INSURANCE COMPANY 10%NTE 20K	FEDERAL INSURANCE COMPANY 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K
CONSENT OF SURETY	MICHAEL J.MERVIN AIF WITH POA	DAWN M. JONES AIF WITH POA	CHARLES MCCABE AIF WITH POA	DAWN M. JONES AIF WITH POA	TAMMY L.OREHEK AIF WITH POA	LISA NOSAL AIF WITH POA	SANDRA A.PACE AIF WITH POA	DONNA M.PLANETA AIF WITH POA	LINDA DOZIER AIF WITH POA
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
PREVAILING WAGE CERTIFICATION	OK	OK	OK	OK	OK	OK	OK	OK	OK
EIC	REQUIRED IF AWARDED	8925 EXPIRES 12.15.19	REQUIRED IF AWARDED	39950 EXPIRES 11.15.19	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
STOCKHOLDER DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EXHIBIT B	INCLUDED	INCLUDED	REQUIRED IF AWARDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
PW CONTRACTOR REG.	607153 EXPIRES 6.13.20	608194 EXPIRES 8.01.19	618584 EXPIRES 12.10.20	67639 EXPIRES 12.15.20	624484 EXPIRES 5.28.20	606273 EXPIRES 7.18.20	61591 EXPIRES 7.16.20	18315 EXPIRES 5.5.19	39456 EXPIRES 6.13.20
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	OK	OK	OK	OK	OK
NON-COLLUSION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
SAFETY CERT	WILL HAVE TO BE SIGNED PAGE 93	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EQUIPMENT CERT	OK	OK	OK	OK	OK	OK	OK	OK	OK
THREE REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	YES	YES	YES	YES	YES
TOTAL BID AMOUNT	\$1,637,117.00		\$2,164,000.00	\$1,683,770.93		\$2,194,744.00	\$2,285,285.00	\$1,989,613.13	\$2,470,328.24
EXCEPTIONS	NONE	NONE	NONE	NONE	NONE	NONE	NONE	NONE	NONE
FATAL FLAW	NO	YES, DID NOT INCLUDE ADDENDUM	NO	NO	NO	NO	NO	NO	NO

AB2019-01 REPLACEMENT OF COUNTY BRIDGE NO. 861.1																								
T		PROPOSAL					Marbro		CII	Hosso	Loffus Const	ruction Inc.	Midlantic Co	nstruction LLC	State Line C	onstruction	Collonnelli	Brothers, Inc.	Lucas Bro	others Inc	Forle Asphi	alt Company	Pichard P. P.	erson Construction Co Inc.
	NJDO				If&Where		Malbio			iicasc	201103 C01131	ochon me.	Audidinic Co	III OCHOIT EEC	Sidic Line C	onsilo Cilon	Conomical	bioliters, me.	20003 210	omers me.	Edile Aspir	an company	RICHGIG R.	CISON CONSTITUTION CO INC.
Item No.	Standa Item N	rd Description o.	Unit	Plan Quantity		QUANTITY	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	154003	- MODILEATION	LS	1		1	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$105,000.00	\$105,000.00	\$160,000.00	\$160,000.00	\$25,000.00	\$25,000.00	\$120,000.00	\$120,000.00	\$177,528.31	\$177,528.31		\$197,000.00	\$30,000.00	\$30,000.00
2	158006	- GETTENGE	LF	1,135	114	1,249	\$3.00	\$3,747.00	\$3.00	\$3,747.00	\$7.00	\$8,743.00	\$5.66	\$7,069.34	\$3.50	\$4,371.50	\$6.00	\$7,494.00	\$4.50	\$5,620.50		\$2,498.00	\$6.00	\$7,494.00
3	158030	- MEET TETER TITE 2, 2 X 4	LF	220	22	242	\$133.00	\$798.00	\$200.00	\$1,200.00	\$125.00	\$750.00	\$100.00	\$600.00	\$200.00	\$1,200.00	\$150.00	\$900.00	\$175.00	\$1,050.00	4.0.00	\$450.00	\$200.00	\$1,200.00
5	158042	I CONTINU TOROUGH I DARRICER, THE I	LF LS	220	22	242	\$17.00 \$0.01	\$4,114.00 \$0.01	\$40.00 \$2,000.00	\$9,680.00 \$2,000.00	\$35.00 \$4,000.00	\$8,470.00 \$4,000.00	\$26.29 \$0.01	\$6,362.18 \$0.01	\$1.00 \$1.00	\$242.00 \$1.00	\$20.00 \$4,000.00	\$4,840.00 \$4,000.00	\$7.60 \$830.00	\$1,839.20 \$830.00		\$6,050.00 \$1,000.00	\$15.00 \$850.00	\$3,630.00 \$850.00
6	159141	CONCRETE WASHOOT STOTES	HOUR		100	100	\$0.01	\$1.00	\$2,000.00	\$2,000.00	\$4,000.00	\$9,000.00	\$0.01	\$1.00	\$90.00	\$9,000.00	\$4,000.00	\$7,500.00	\$830.00	\$830.00		\$1,000.00	\$80.00	\$8,000.00
7	160004		DOLLAR	2,000		2.000	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00		\$2.000.00	\$1.00	\$2,000.00
8	160007		DOLLAR	2,000		2,000	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00		\$2,000.00	\$1.00	\$2,000.00
9	201003	P CLEARING SITE (ROADWAY)	LS	1		1	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00	\$18,000.00	\$18,000.00	\$20,000.00	\$20,000.00	\$75,000.00	\$75,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00
10	202009	P EXCAVATION, UNCLASSIFIED	CY	1,896	376	2,272	\$26.00	\$59,072.00	\$60.00	\$136,320.00	\$64.00	\$145,408.00	\$19.07	\$43,327.04	\$20.00	\$45,440.00	\$46.00	\$104,512.00	\$40.00	\$90,880.00	\$20.00	\$45,440.00	\$50.00	\$113,600.00
11	202015	P EXCAVATION, REGULATED MATERIAL	CY		50	50	\$0.01	\$0.50	\$45.00	\$2,250.00	\$20.00	\$1,000.00	\$0.01	\$0.50	\$0.01	\$0.50	\$25.00	\$1,250.00	\$1.00	\$50.00	\$10.00	\$500.00	\$95.00	\$4,750.00
12	202018	P EXCAVATION, ACID PRODUCING SOIL	CY		120	120	\$0.01	\$1.20	\$50.00	\$6,000.00	\$20.00	\$2,400.00	\$0.01	\$1.20	\$0.01	\$1.20	\$25.00	\$3,000.00	\$1.00	\$120.00		\$600.00	\$78.00	\$9,360.00
13	202024	M DISPOSAL OF REGULATED MATERIAL	TON		80	80	\$0.01	\$0.80	\$100.00	\$8,000.00	\$50.00	\$4,000.00	\$0.01	\$0.80	\$90.00	\$7,200.00	\$55.00	\$4,400.00	\$1.00	\$80.00		\$2,000.00	\$85.00	\$6,800.00
14	202033		UNIT		6	6	\$0.01	\$0.06	\$200.00	\$1,200.00	\$750.00	\$4,500.00	\$0.01	\$0.06	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$2,100.00	\$12,600.00		\$2,400.00	\$600.00	\$3,600.00
15	202039	BIDI GOAL OF ACID I RODOCING DOIL	TON		180	180	\$0.01	\$1.80	\$75.00	\$13,500.00	\$50.00	\$9,000.00	\$0.01	\$1.80	\$75.00	\$13,500.00	\$45.00	\$8,100.00	\$1.00	\$180.00	4.0.00	\$1,800.00	\$60.00	\$10,800.00
16 17	NS2020	SOIL ILDING IL 2012 C-13	DOLLAR	2,500 961	79	2,500	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	7	\$2,500.00	\$1.00	\$2,500.00
17	203009		CY	961	79	1,040	\$50.00	\$52,000.00	\$90.00 \$40.00	\$93,600.00 \$7,840.00	\$55.00	\$57,200.00	\$38.67	\$40,216.80	\$30.00	\$31,200.00	\$46.00	\$47,840.00	\$43.00	\$44,720.00		\$52,000.00	\$85.00	\$88,400.00 \$20,580.00
18	301006		SY	170	26 119	196 814	\$50.00 \$17.00	\$9,800.00 \$13.838.00	\$40.00	\$7,840.00 \$16,280.00	\$55.00 \$25.00	\$10,780.00 \$20,350.00	\$53.36 \$12.41	\$10,458.56 \$10,101.74	\$25.00 \$20.00	\$4,900.00 \$16,280.00	\$50.00 \$13.00	\$9,800.00 \$10,582.00	\$35.00 \$10.75	\$6,860.00 \$8,750.50		\$13,720.00 \$6,512.00	\$105.00 \$18.00	\$20,580.00 \$14.652.00
20	401009		SY	2,159	216	2,375	\$17.00	\$13,636.00	\$20.00	\$10,280.00	\$6.00	\$20,350.00	\$12.41	\$10,101.74	\$20.00	\$16,280.00	\$15.00	\$10,582.00	\$10.75	\$12,468,75		\$6,512.00	\$18.00	\$14,652.00
21	401030		GAL	281	28	309	\$0.01	\$11,873.00	\$5.00	\$1,545.00	\$3.00	\$927.00	\$5.00	\$1,545.00	\$1.00	\$309.00	\$1.00	\$309.00	\$6.00	\$1.854.00		\$772.50	\$7.00	\$2,163.00
22	401036		GAL	158	16	174	\$0.01	\$1.74	\$0.01	\$1.74	\$4.00	\$696.00	\$0.01	\$1,74	\$1.00	\$174.00	\$1.00	\$174.00	\$0.01	\$1.74		\$1.74	\$0.01	\$1.74
23	401048	M HOT MIX ASPHALT 9.5 M 76 SURFACE COURSE, 2" THICK	TON	320	32	352	\$115.00	\$40,480.00	\$120.00	\$42,240.00	\$130.00	\$45,760.00	\$125.00	\$44,000.00	\$110.00	\$38,720.00	\$135.00	\$47,520.00	\$115.00	\$40,480.00		\$33,440.00	\$131.00	\$46,112.00
24	401099	M HOT MIX ASPHALT 25 M 64 BASE COURSE, 8" THICK	TON	285	55	340	\$115.00	\$39,100.00	\$100.00	\$34,000.00	\$130.00	\$44,200.00	\$125.00	\$42,500.00	\$110.00	\$37,400.00	\$130.00	\$44,200.00	\$110.00	\$37,400.00	\$68.00	\$23,120.00	\$114.00	\$38,760.00
25	601124	P 18" REINFORCED CONCRETE PIPE	LF	203	267	470	\$40.00	\$18,800.00	\$80.00	\$37,600.00	\$65.00	\$30,550.00	\$35.00	\$16,450.00	\$55.00	\$25,850.00	\$60.00	\$28,200.00	\$18.00	\$8,460.00	\$30.00	\$14,100.00	\$100.00	\$47,000.00
26	602012		UNIT	4		4	\$2,600.00	\$10,400.00	\$3,000.00	\$12,000.00	\$4,500.00	\$18,000.00	\$2,588.09	\$10,352.36	\$5,000.00	\$20,000.00	\$4,500.00	\$18,000.00	\$7,100.00	\$28,400.00		\$16,000.00	\$8,200.00	\$32,800.00
27	602054	- MATERIAL TER	UNIT	1		1	\$3,100.00	\$3,100.00	\$2,700.00	\$2,700.00	\$4,000.00	\$4,000.00	\$4,200.17	\$4,200.17	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00	\$7,300.00	\$7,300.00		\$3,500.00	\$8,000.00	\$8,000.00
28	602096	- BEET CONVENTED TO INDIVIDEE	UNIT	2		2	\$1,600.00	\$3,200.00	\$1,800.00	\$3,600.00	\$4,000.00	\$8,000.00	\$1,261.60	\$2,523.20	\$4,000.00	\$8,000.00	\$2,200.00	\$4,400.00	\$5,500.00	\$11,000.00	\$2,500.00	\$5,000.00	\$8,000.00	\$16,000.00
29	603041		SY	90	10	100	\$280.00	\$28,000.00	\$225.00	\$22,500.00	\$40.00	\$4,000.00	\$80.00	\$8,000.00	\$85.00	\$8,500.00	\$135.00	\$13,500.00	\$63.00	\$6,300.00		\$14,000.00	\$115.00	\$11,500.00
30	606012		SY	320 30	32	352 33	\$69.00 \$60.00	\$24,288.00 \$1,980.00	\$75.00 \$50.00	\$26,400.00 \$1.650.00	\$100.00 \$75.00	\$35,200.00 \$2,475.00	\$72.80 \$72.73	\$25,625.60 \$2,400.09	\$65.00 \$75.00	\$22,880.00 \$2,475.00	\$58.00 \$40.00	\$20,416.00 \$1,320.00	\$85.00 \$100.00	\$29,920.00 \$3,300.00		\$17,600.00 \$2,310.00	\$73.00 \$104.00	\$25,696.00 \$3,432.00
32	606084		SY	30	3	1	\$225.00	\$225.00	\$450.00	\$450.00	\$250.00	\$250.00	\$100.00	\$100.00	\$500.00	\$500.00	\$135.00	\$135.00	\$1,200.00	\$1,200.00		\$100.00	\$225.00	\$225.00
33	607021		LF	1,080	108	1,188	\$26.00	\$30,888.00	\$30.00	\$35,640.00	\$45.00	\$53,460.00	\$26.96	\$32.028.48	\$25.00	\$29,700.00	\$28.00	\$33,264.00	\$60.00	\$71,280.00		\$35.640.00	\$28.00	\$33,264.00
34	608003	P NONVEGETATIVE SURFACE, HOT MIX ASPHALT	SY	80	8	88	\$31.00	\$2,728.00	\$40.00	\$3,520.00	\$50.00	\$4,400.00	\$40.00	\$3,520.00	\$45.00	\$3,960.00	\$40.00	\$3,520.00	\$36.00	\$3,168.00		\$3,344.00	\$31.00	\$2,728.00
35	609003	M BEAM GUIDE RAIL	LF	88	13	101	\$150.00	\$15,150.00	\$170.00	\$17,170.00	\$175.00	\$17,675.00	\$35.00	\$3,535.00	\$110.00	\$11,110.00	\$110.00	\$11,110.00	\$175.00	\$17,675.00	\$185.00	\$18,685.00	\$150.00	\$15,150.00
36	609027	M TANGENT GUIDE RAIL TERMINAL	UNIT	3		3	\$4,250.00	\$12,750.00	\$4,800.00	\$14,400.00	\$4,500.00	\$13,500.00	\$3,000.00	\$9,000.00	\$3,500.00	\$10,500.00	\$4,500.00	\$13,500.00	\$4,900.00	\$14,700.00	\$5,300.00	\$15,900.00	\$4,250.00	\$12,750.00
37	609078		UNIT	12	1	13	\$6.50	\$84.50	\$7.00	\$91.00	\$10.00	\$130.00	\$20.00	\$260.00	\$10.00	\$130.00	\$10.00	\$130.00	\$7.50	\$97.50	40.00	\$104.00	\$6.50	\$84.50
38	610003		LF	2,660	266	2,926	\$0.73	\$2,135.98	\$0.80	\$2,340.80	\$1.00	\$2,926.00	\$0.73	\$2,135.98	\$5.50	\$16,093.00	\$2.00	\$5,852.00	\$1.00	\$2,926.00		\$3,072.30	\$0.75	\$2,194.50
39 40	610021		UNIT	9	1	10	\$120.00 \$25.000.00	\$1,200.00	\$200.00	\$2,000.00	\$125.00 \$26.000.00	\$1,250.00 \$26,000.00	\$120.00 \$23,000.00	\$1,200.00	\$110.00 \$9.500.00	\$1,100.00	\$135.00 \$22.500.00	\$1,350.00	\$60.00	\$600.00	400.00	\$500.00 \$35,000.00	\$120.00 \$27.000.00	\$1,200.00 \$27,000.00
40	612003	CRASH COSHOR, COMPRESSIVE DARRIER THE E., MISTIMARROW	SF	5		5	\$25,000.00 \$35.00	\$25,000.00 \$175.00	\$22,000.00	\$22,000.00	\$26,000.00	\$26,000.00 \$250.00	\$23,000.00	\$23,000.00 \$230.00	\$9,500.00	\$9,500.00 \$250.00	\$22,500.00 \$75.00	\$22,500.00 \$375.00	\$20,000.00	\$20,000.00 \$200.00		\$35,000.00 \$175.00	\$27,000.00	\$27,000.00 \$210.00
42	NS80400		SY	834	83	917	\$10.00	\$9,170.00	\$5.00	\$4,585.00	\$6.00	\$5.502.00	\$13.97	\$12,810.49	\$15.00	\$13,755.00	\$6.00	\$5,502.00	\$7.00	\$6,419.00		\$6.556.55	\$12.00	\$11.004.00
43	NS80601		SY	834	83	917	\$1.00	\$917.00	\$3.75	\$3,438.75	\$2.00	\$1,834.00	\$1.00	\$917.00	\$1.00	\$13,730.00	\$2.00	\$1,834.00	\$2.30	\$2,109.10		\$3,897.25	\$2.20	\$2,017.40
44	807006		SY	192	19	211	\$4.87	\$1,027.57	\$9.00	\$1,899.00	\$3.00	\$633.00	\$5.00	\$1,055.00	\$5.00	\$1,055.00	\$6.00	\$1,266.00	\$8.40	\$1,772.40		\$1,055.00	\$2.20	\$464.20
45	809003	M STRAW MULCHING	SY	834	83	917	\$1.30	\$1,192.10	\$1.00	\$917.00	\$2.00	\$1,834.00	\$1.00	\$917.00	\$1.00	\$917.00	\$2.00	\$1,834.00	\$2.00	\$1,834.00	\$1.50	\$1,375.50	\$1.10	\$1,008.70
46	811030	UMALE DEGIDOOD TREE, 50 TIGIT, DUD	UNIT	8	1	9	\$320.00	\$2,880.00	\$550.00	\$4,950.00	\$550.00	\$4,950.00	\$200.00	\$1,800.00	\$500.00	\$4,500.00	\$400.00	\$3,600.00	\$540.00	\$4,860.00	\$450.00	\$4,050.00	\$310.00	\$2,790.00
47	811056	- SINALL DECIDOODS SINGE, 4-5 THOM, DAD	UNIT	23	2	25	\$320.00	\$8,000.00	\$135.00	\$3,375.00	\$100.00	\$2,500.00	\$200.00	\$5,000.00	\$650.00	\$16,250.00	\$200.00	\$5,000.00	\$200.00	\$5,000.00		\$7,000.00	\$70.00	\$1,750.00
48	903006		CY		10	10	\$150.00	\$1,500.00	\$500.00	\$5,000.00	\$150.00	\$1,500.00	\$0.01	\$0.10	\$200.00	\$2,000.00	\$300.00	\$3,000.00	\$145.00	\$1,450.00		\$750.00	\$750.00	\$7,500.00
49	201006		LS	1		- 1	\$100,000.00	\$100,000.00	\$150,000.00	\$150,000.00	\$49,807.00	\$49,807.00	\$18,000.00	\$18,000.00	\$130,000.00	\$130,000.00	\$80,000.00	\$80,000.00	\$130,000.00	\$130,000.00		\$50,000.00	\$50,000.00	\$50,000.00
50 51	NS 30206	IOP COARSE AGGREGATE, SIZE NO. 57	CY LS	39	4	43	\$18.00 \$312.144.34	\$774.00 \$312.144.34	\$190.00 \$375.000.00	\$8,170.00 \$375.000.00	\$100.00 \$620.000.00	\$4,300.00 \$620.000.00	\$100.84 \$358.000.00	\$4,336.12 \$358.000.00	\$30.00 \$250.000.00	\$1,290.00 \$250.000.00	\$45.00 \$580.000.00	\$1,935.00 \$580.000.00	\$145.00 \$415.000.00	\$6,235.00 \$415.000.00	\$200.90 \$378.000.00	\$8,638.70 \$378.000.00	\$125.00 \$675.000.00	\$5,375.00 \$675.000.00
	501012I		LS	310	31	- 1	\$312,144.34 \$150.00	\$312,144.34 \$51,150.00	\$375,000.00	\$375,000.00	\$620,000.00	\$620,000.00	\$358,000.00 \$113.62	\$358,000.00	\$250,000.00	\$250,000.00	\$150.00	\$580,000.00 \$51,150.00	\$415,000.00 \$110.00	\$415,000.00		\$378,000.00	\$220.00	\$675,000.00 \$75,020.00
53	NS 50230		LB	17.800	1,780	341 19,580	\$150.00	\$34,656.60	\$110.00	\$43.076.00	\$2.50	\$48,950.00	\$113.62	\$38,744.42	\$75.00	\$48,950.00	\$150.00	\$39,160.00	\$110.00	\$37,510.00	\$125.00	\$42,625.00	\$220.00	\$75,020.00
54	504015		CY	130	13	19,580	\$250.00	\$35,750.00	\$500.00	\$71,500.00	\$500.00	\$71,500.00	\$477.64	\$68,302.52	\$500.00	\$71,500.00	\$500.00	\$71,500.00	\$450.00	\$64,350.00		\$53,625.00	\$1.00	\$143.00
55	504018		CY	85	9	94	\$400.00	\$37,600.00	\$800.00	\$75,200.00	\$700.00	\$65,800.00	\$516.38	\$48,539.72	\$950.00	\$89,300.00	\$1,000.00	\$94,000.00	\$500.00	\$47,000.00		\$141,000.00	\$1.00	\$94.00
56	5050571	P PRECAST CONCRETE CULVERT	LF	52		52	\$7,500.00	\$390,000.00	\$6,500.00	\$338,000.00	\$5,000.00	\$260,000.00	\$5,938.00	\$308,776.00	\$5,500.00	\$286,000.00	\$4,750.00	\$247,000.00	\$10,100.00	\$525,200.00	\$8,395.00	\$436,540.00	\$12,950.00	\$673,400.00
57	507030	P CONCRETE BRIDGE SIDEWALK	CY	10	2	12	\$700.00	\$8,400.00	\$1,100.00	\$13,200.00	\$1,200.00	\$14,400.00	\$1,449.46	\$17,393.52	\$1,500.00	\$18,000.00	\$1,500.00	\$18,000.00	\$680.00	\$8,160.00	\$1,150.86	\$13,810.32	\$920.00	\$11,040.00
58	507036	- OUNDRETE BRIDGET AIGH ET	LF	24	2	26	\$300.00	\$7,800.00	\$1,300.00	\$33,800.00	\$600.00	\$15,600.00	\$628.20	\$16,333.20	\$900.00	\$23,400.00	\$400.00	\$10,400.00	\$670.00	\$17,420.00		\$17,825.08	\$445.00	\$11,570.00
59	507051		CY	137	14	151	\$0.01	\$1.51	\$1,500.00	\$226,500.00	\$1,300.00	\$196,300.00	\$845.29	\$127,638.79	\$1,200.00	\$181,200.00	\$1,350.00	\$203,850.00	\$1,200.00	\$181,200.00		\$128,350.00	\$1,300.00	\$196,300.00
60	507085		LF	70	7	77	\$295.00	\$22,715.00	\$400.00	\$30,800.00	\$350.00	\$26,950.00	\$307.54	\$23,680.58	\$375.00	\$28,875.00	\$315.00	\$24,255.00	\$420.00	\$32,340.00		\$23,100.00	\$295.00	\$22,715.00
61	NS 61204		U	1	-	. 1	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$2,750.00	\$2,750.00	\$3,327.57	\$3,327.57	\$2,000.00	\$2,000.00	\$1,400.00	\$1,400.00	\$3,000.00	\$3,000.00		\$3,929.19	\$2,000.00	\$2,000.00
62	159003i		UNIT	20	20	20	\$45.00	\$900.00	\$100.00	\$2,000.00 \$2,000.00	\$110.00	\$2,200.00	\$0.01	\$0.20	\$1.00 \$1.00	\$20.00	\$35.00	\$700.00 \$500.00	\$1.00	\$20.00		\$200.00 \$200.00	\$80.00	\$1,600.00
63	159006	Ditom	SF	570	20	630	\$0.01 \$10.00	\$0.20 \$6.300.00	\$100.00 \$11.00	\$2,000.00 \$6,930.00	\$75.00 \$12.00	\$1,500.00 \$7.560.00	\$0.01 \$15.50	\$0.20 \$9.765.00	\$1.00 \$20.00	\$20.00 \$12.600.00	\$25.00 \$14.00	\$500.00	\$1.00 \$12.00	\$20.00 \$7.560.00		\$200.00 \$6.300.00	\$0.01 \$15.50	\$0.20 \$9,765.00
65	159012		SF LF	40	20	60	\$10.00 \$15.00	\$6,300.00	\$11.00 \$75.00	\$6,930.00	\$12.00 \$40.00	\$7,560.00	\$15.50 \$40.00	\$9,765.00	\$20.00 \$0.01	\$12,600.00 \$0.60	\$14.00 \$32.00	\$8,820.00	\$12.00 \$1.00	\$7,560.00		\$6,300.00	\$15.50 \$82.00	\$9,765.00
66	159021		UNIT	3	1	4	\$2,600.00	\$10,400.00	\$4,000.00	\$4,500.00	\$2,500.00	\$2,400.00	\$8,500.00	\$2,400.00	\$1.00	\$4.00	\$2,500.00	\$1,920.00	\$3,000.00	\$12,000.00		\$1,500.00	\$2,800.00	\$4,920.00
	159030	TOTAL=					64 627 447	00	\$2,230		\$2,164	000.00	\$1,683		\$1,671		\$2.19		\$2,285		\$1,98			\$.1,£00.00